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FCCAnalyses: FCC-ee Simulation (Delphes)

1020 1 T | T T | T T | I TTT1 | T T | T T | T T | I TTT1 | T T | T ]
__ {s =240 GeV, L=10.8 ab™ ]
1018i e'e ~ZH,Z - vv,H - 11, B
1016 i No additional selection E
10 | ]
- Z(qa)H(tT) Cww (12 - QQ ]
1 I ZZ I ete - -
10— Z(IHH(TT) [Je‘e - 1t e‘e - vy, Z =
100 Z(VV)H(t1) [ Jey - eZ(ll) Cdyy - i =
107 = I Z(t1)H(1T) Bl ZHQQ)
ol [ Z(t1)H(g0) B Z(TT)H(VV) =
10° = B Z(vwW)H(QQ) [ Z(vv)H(g9) =
s [ 1Z(vw)H(WV) [ Z(INH(QQ) —
10 [ Z(INH(g9) 1 Z(INH(VWV) —
[ 1Z(qa)H(VV) —]
10* —
102 —
1 —
102 -
10 F -
10_6 :_ll— L1 I L1l I |- I L1l I L1l I L1l I |- I L1l I L1l I L1 —I:
O 005 0.1 0.15 0.2 0.25 0.3 0.35 0.4 045 0.5

Reco lepton tracks z_ 0?
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